EARAROBREBRT —5 XN—ZXBISH—F 20224E108168H (H) mlEEm1H

B C 2 t# SR ‘(fﬁl £ ‘[%EH%FEEH - | & 12000 B
[AXE%) 1 %&:300,00 M ~ 2%&:105000H  33#%:60,00M ~ 43%&:30,000H ~ 53&:15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
< HER 4. - 70 - EEW (KR
11111 AOYTT+—2R 3085 1(1_4)1 o 377 ! (Egg) ;ﬁﬂgiﬁéﬂ
RiO—YRA VA B:RIVNIET RU— ehiiis
- e ] N _ =
'R vvosvyoy # 3 | 2 1.(185).4 43 |37.6 7 (11?3) ﬁgg (B%M)
RiNZ—ka1—X B:IAUAFTRFAI— NE &E&
S = B3 | AWRE 1:15.8 1-2 39.5| - 2 451 | KEFER (2X[E)
30glg | XAYavIYL 5.0 02 ) | IL=yvT @
RZvF—TA) B:T7IRAB [Faaskae]
- _ Eazk:a : ) - . —_ %iﬁﬁ— (glﬁ)
4 3 JUF AT 4t 4 54.0/¥ 1(11/52)9 5-5 37.8 3 (4+3:) torn
R:RSAVF By Y—Z— =
o A :16. - . - TikaZ (BEE)
sl7] 7 | Ao 6 | B 1(116)1 3-4 38.8 8 (4_413) Py

Rib—€YS5— B ANAY—Y—2 =80l %5

S~y T~ _ H o3 | BE 1:16.6 8-6 77| - 5 | 466 |EBWE— KR
]4 TU—VEYRY 5.0 3 @) | BAHEE

R:FVyvH/FF BT N-RYYT A+t A
718ls 5,{5\y9?“1\/} ) 3| LA 1:(137).1 66 388 — | 4 (4323) %E&E% (KiR)
RVILN=RF—t BARZASYY e
EHE’ rOv4sO—x L] ;Ejl%h?z?.@ 1:(147).8 7-8 39.2| - 9 (4_427) g{uggiﬁ(m}?)
R:E-—UR B:RA—hUYRFry b [Ffaakae]
715° 3;;/4')3/—\5# F::I7U—Irr(3ay o ?2%"% (12118/22) " > 6 (4'3:; jg;i%‘f—ég%—L\
@ 1—F—&@BIEfL
1J—F—
Aal=zr=
30—3— 9,1,7,2,3,8,6, (4,5)
43— — 1,9,2,7,3,(4,8) ,6,5
@ I RE
B 1 MO | | DA K 1-2 550M & 1-2 1,680M 38 1-2-9 1,120H
8 B 1 100 1-9 190F4 55 & 1-2 1,590M s 1-2-9 5,030M
2 2609 2-9 1,080 5 2 1-2 1,960M
9 1003

ABIC OV TRUTEREERRODDZE. THRIIZEL.



